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{210g3 y 4+ 3% +5%-5 — 7
3log, vy — 3x2+5x—5 = 3
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JNlorapndmmyecknmm
HepaBeHCTBaM/ Ha3bIBaloOT
HepaBeHCTBa BMAaa:

log, f(x)>log,g(x),raea>0,a # 1,

N HepaBeHCTBa, cBoAsLLMeCs K
3TOMY BUAY.



log, f(x) >log, g(x)

10Bg J \X) — 108, yix) >0

f(x) f(x)

log,—— > 0,T.e. log,t >0,rget =
52 900 > g(x)

[lonyqaeM 2 cnyyad:a>1ul0<a <1

a>1llog,t>0 t>1 f(x)>1
g(x)

f(x) > gx)
f(x)

O0<a<llog,t>0 Q<t<cl1 0<—K1
g(x)

J\X) = gXx)



TeopeM fxx) > 0,g(x) >0
a.
log,, f(x) >log, g(x) <=> f(x) > g(x)
npua > 1;

log, f(x) >log, g(x) <=> f(x) < g(x)
npuld<a <1






anIMep 1. a)log,(2x—4) > log,(14 — x);

2x —4 >0, > e 0 <x< 14
14—x >0, Ix < 14, x € (6;14).
2x —4 > 14 — x; o e 7% Oteet: (6;14)

0) log1(2x —4) > log1(14 — x);
3 3

2x — 4> 0, x> 2, 2<x<6
{ 14— x>0, x < 14, x € (2;6).
2P L —ae X< 6o OteeT: (2;6)



[MTpumep
2.

log1(16 + 4x — x*) < log116;
2 2

16 +4x—x* >0,

1
0<><1 {16+4x—x2 > 16.

4x —x* =0, x? —4x <0,
x(x—4)=<0, x€/[0; 4]
OteeT: [0; 4]

log:(16 + 4x — x?) < —4;

16 +4x— x? = 16,



Iipumep

lgx +1g(45—x) <2+ 1g2,
lg x(45— x) < 1g100 + 1g2,
lg(45x — x*) < 1g200,

a=1.a>1.
x>01 x>0,
{ 45 —-x >0, { x < 45,
45x —x* < 200; \x2 —45x+ 200> 0.

1) x* —45x+200>0, (x—5)(x—40) >0,
x <5x>40, x € (—o0; 5)U (40;4+00).
2)x € (0;5) U (40;45)

Oteet: (0;5) U (40;45).



anIMep 4. logzx* —5log, x +1 < 0.
O0A3:x > 0,

logzx? = 4logs|x| = 4log3x,
4logsx—5log, x +1 <0,
log, x=1t, 4t?—5t+1<0,

1 1 1
4(t—1)(t—2)§£0, (tl—l)(t—z)so, te[z;l].

1

2>1, 2i<x<2 x€[¥22]
OTBerT: [W;Z]



Pewunrtb
1)[0.GRMOCTOATLHEHRQ 10g, 3.

2)[3; +o0)
3)(0; 3]
4)(3; +0)

5)(—o0; 3]



Pewunrtb
1)(0; 36@MOCTOATERBHD » < 10g.3

2)[3; +o0)
3)(0; 3]

4)(3; +)
5)(—0;3]



1 Pewntb

1)log, x < >
CAMOCTOATEJIbHO
2)logy , x < —3;

X
3)loglg > -
4

4)log, (8 — 6x) < log, 2x;
5)logi(—x) > logi(4 — 2x);
3 3

6)log 5(x* + 10x) > log 5(x — 14).



